. Haiinure Momyns uncna 7 = 71 + 22, ecmm 21 = 2+ 3i, 20 = —1 +4i.

1)5\/5 2)2\/5 HVI3I+VIT 4 V221

. Haiimure z, ecnm Rez =1, z=x+3 +4i.

nz=143i 2z=1—-4i 3»Hz=1+i 4z=1+4i

. Haiinure z, ecmu Imz =2, 7 =x — 4+ xi.

) —242i 2242 3 —2-2i 4H2-2i

. Haitqnre z, ecn Imz =3, z=x>+4+ (x2 —9)i.

Hz=64+3i 2)z=-16+3i 3)z=16+3i 4z=16—3i

. Haitmure z, ecnn Rez =2, z=x> —4+ (x2 —9)i.

Hhz=2-3i 2z=2+43i 3)z=2—10 4Hz=2+2

. Haiinure x, y € R u3 pasenctea X +y+ (x —y)i = 8 4 2i.

Dx=3,y=5 2x=5y=4 3yx=2,y=1 4Hx=5y=3

. Haiinure x, y € R us pasenctea x —y+ (x+y)i = 2 — 4i.
Hhx=4,y=-3 2px=—-1,y=2 3Hx=—-1,y=-3 sHx=1,y=3
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